

# JOURNAL OF SCIENCE



SAKARYA UNIVERSITY

## Sakarya University Journal of Science

ISSN 1301-4048 | e-ISSN 2147-835X | Period Bimonthly | Founded: 1997 | Publisher Sakarya University |  
<http://www.saujs.sakarya.edu.tr/>

Title: A study on absolute summability factors

Authors: G. Canan H. Güleç

Received: 2019-11-04 14:30:41

Accepted: 2019-12-12 16:54:53

Article Type: Research Article

Volume: 24

Issue: 1

Month: February

Year: 2020

Pages: 220-223

How to cite

G. Canan H. Güleç; (2020), A study on absolute summability factors . Sakarya University Journal of Science, 24(1), 220-223, DOI: 10.16984/saufenbilder.642406

Access link

<http://www.saujs.sakarya.edu.tr/tr/issue/49430//642406>

New submission to SAUJS

<http://dergipark.gov.tr/journal/1115/submission/start>

## A study on absolute summability factors

G. Canan Hazar Güleç\*<sup>1</sup>

### Abstract

In this study we proved theorems dealing with summability factors giving relations between absolute Cesàro and absolute weighted summability methods. So we deduced some results in the special cases.

**Keywords:** Summability factors, Absolute Cesàro summability, Absolute weighted summability.

### 1. INTRODUCTION

Let  $\sum x_n$  be an infinite series with sequence of partial sums  $(s_n)$  and  $(\theta_n)$  a sequence of positive real constants. Let  $A = (a_{nv})$  be an infinite matrix of complex numbers. We define the  $A$ -transform of the sequence  $s = (s_n)$  as the sequence  $A(s) = (A_n(s))$ , where

$$A_n(s) = \sum_{v=0}^{\infty} a_{nv} s_v$$

provided the series on the right side converges for  $n \geq 0$ . Then, the series  $\sum x_n$  is said to be summable  $|A, \theta_n|_k$ ,  $k \geq 1$ , if (see [13])

$$\sum_{n=1}^{\infty} (\theta_n)^{k-1} |A_n(s) - A_{n-1}(s)|^k < \infty. \quad (1.1)$$

In particular, if  $A$  is chosen to be the matrix of weighted mean  $(\bar{N}, p_n)$ , then  $|A, \theta_n|_k$  summability reduces to  $|\bar{N}, p_n, \theta_n|_k$  summability [14]. Also, it may be mentioned that on putting  $\theta_n = P_n/p_n$ , we obtain  $|\bar{N}, p_n|_k$  summability (see[2]). A weighted mean matrix has the entries

$$a_{nv} = \begin{cases} p_v, & 0 \leq v \leq n \\ P_n, & 0, v > n, \end{cases}$$

where  $(p_n)$  is a sequence of positive numbers such that  $P_n = p_0 + p_1 + \dots + p_n \rightarrow \infty$  as  $n \rightarrow \infty$ ,  $P_{-i} = p_{-i} = 0$ ,  $i \geq 1$ . If we take  $A$  as matrix of Cesàro means  $(C, \alpha)$  of order  $\alpha > -1$ , then we get  $|C, \alpha|_k$  summability in Flett's notation [3].

Also for  $\alpha = -1$ , if we get  $A_n(s) = T_n$ , the  $n$ th Cesàro  $(C, -1)$  mean, which is defined by Thorpe in [16], with  $\theta_n = n$  in (1.1), we obtain the  $|C, -1|_k$  summability defined and studied by Hazar and Sarıgöl in [5], where

$$T_n = \sum_{v=0}^{n-1} a_v + (n+1)a_n.$$

Throughout this paper,  $k^*$  denotes the conjugate of  $k > 1$ , i.e.,  $1/k + 1/k^* = 1$ , and  $1/k^* = 0$  for  $k = 1$ .

Let  $X$  and  $Y$  be summability methods. If  $\sum \varepsilon_n x_n$  is summable  $Y$  whenever  $\sum x_n$  is summable  $X$ , then the sequence  $\varepsilon = (\varepsilon_n)$  is said to be a summability factor of type  $(X, Y)$  and it is denoted by  $\varepsilon \in (X, Y)$ . In the special case when  $\varepsilon = 1$ , then  $1 \in (X, Y)$  gives the comparisons of these methods, where  $1 = (1, 1, \dots)$

\* Corresponding Author: gchazar@pau.edu.tr

<sup>1</sup> Pamukkale University, Department of Mathematics, Denizli, TURKEY, ORCID:0000-0002-8825-5555

i.e.,  $X \subset Y$ . In this context, Sarıgöl [12] has established the result dealing with summability factor of type  $\varepsilon \in (|C, \alpha|_k, |\bar{N}, p_n|)$ , for  $\alpha > -1$  and  $k > 1$  on absolute summability factors, which extends some well-known results of [8-11].

Also, Hazar Güleç [4] has recently extended these studies to the range  $\alpha \geq -1$  using  $|C, -1|_k$  summability method.

For other studies on absolute summability factors and comparisons of the methods, see [1,5,6,11,14,15].

In order to establish our results, we require the following lemmas.

**Lemma 1.1.** [12] Let  $1 < k < \infty$ . Then,  $A(x) \in \ell$  whenever  $x \in \ell_k$  if and only if

$$\sum_{v=0}^{\infty} \left( \sum_{n=0}^{\infty} |a_{nv}| \right)^{k^*} < \infty$$

where  $\ell_k = \{x = (x_v) : \sum |x_v|^k < \infty\}$ .

**Lemma 1.2.** [7] Let  $1 \leq k < \infty$ . Then,  $A(x) \in \ell_k$  whenever  $x \in \ell$  if and only if

$$\sup_v \sum_{n=0}^{\infty} |a_{nv}|^k < \infty.$$

## 2. MAIN RESULTS

In this paper we characterize summability factors dealing with the methods  $|C, -1|$  and  $|\bar{N}, p_n, \theta_n|_k$ . Also, in the special case, we obtain the inclusion relations between the methods.

**Theorem 2.1.** Let  $(\theta_n)$  be a sequence of positive real constants and  $1 < k < \infty$ . Then the necessary and sufficient condition that  $\sum \varepsilon_n x_n$  is summable  $|C, -1|$  whenever  $\sum x_n$  is summable  $|\bar{N}, p_n, \theta_n|_k$  is

$$\sum_{r=1}^{\infty} \frac{1}{\theta_r} \left( \frac{rP_r |\varepsilon_r| + rP_{r-1} |\varepsilon_{r+1}|}{p_r} \right)^{k^*} < \infty. \quad (2.1)$$

**Proof.** Let  $(t_n)$  and  $(T_n)$  denote the sequences the  $n$ th weighted mean of the series  $\sum x_n$  and the  $n$ th Cesàro mean  $(C, -1)$  of the series  $\sum \varepsilon_n x_n$ , respectively. Then we define the sequences  $\bar{y} = (\bar{y}_n)$  and  $y = (y_n)$  as

$$\begin{aligned} \bar{y}_n &= \theta_n^{1/k^*} (t_n - t_{n-1}) = \frac{\theta_n^{1/k^*} p_n}{P_n P_{n-1}} \sum_{v=1}^n P_{v-1} x_v, \quad \bar{y}_0 \\ &= x_0 \end{aligned} \quad (2.2)$$

and

$$y_n = T_n - T_{n-1} = (n+1)x_n \varepsilon_n - (n-1)x_{n-1} \varepsilon_{n-1}.$$

It is clear that  $x = (x_n) \in |\bar{N}, p_n, \theta_n|_k$  iff  $\bar{y} = (\bar{y}_n) \in \ell_k$ , and  $\varepsilon x = (\varepsilon_n x_n) \in |C, -1|$  iff  $y = (y_n) \in \ell$ . By virtue of (2.2) we write inverse of  $\bar{y}_n$  as

$$\begin{aligned} x_n &= \frac{\theta_n^{-1/k^*} P_n}{p_n} \bar{y}_n - \frac{\theta_{n-1}^{-1/k^*} P_{n-2}}{p_{n-1}} \bar{y}_{n-1}, \\ x_0 &= \bar{y}_0. \end{aligned} \quad (2.3)$$

Then, using (2.3), we get for  $n \geq 1$ ,

$$\begin{aligned} y_n &= (n+1)x_n \varepsilon_n - (n-1)x_{n-1} \varepsilon_{n-1} \\ &= (n+1)\varepsilon_n \left( \frac{\theta_n^{-1/k^*} P_n}{p_n} \bar{y}_n - \frac{\theta_{n-1}^{-1/k^*} P_{n-2}}{p_{n-1}} \bar{y}_{n-1} \right) \\ &\quad - (n-1)\varepsilon_{n-1} \left( \frac{\theta_{n-1}^{-1/k^*} P_{n-1}}{p_{n-1}} \bar{y}_{n-1} - \frac{\theta_{n-2}^{-1/k^*} P_{n-3}}{p_{n-2}} \bar{y}_{n-2} \right) \\ &= (n+1)\varepsilon_n \frac{\theta_n^{-\frac{1}{k^*}} P_n}{p_n} \bar{y}_n \\ &\quad - \left[ (n+1)\varepsilon_n \frac{\theta_{n-1}^{-\frac{1}{k^*}} P_{n-2}}{p_{n-1}} \right. \\ &\quad \left. + (n-1)\varepsilon_{n-1} \frac{\theta_{n-1}^{-\frac{1}{k^*}} P_{n-1}}{p_{n-1}} \right] \bar{y}_{n-1} \\ &\quad + (n-1)\varepsilon_{n-1} \frac{\theta_{n-2}^{-\frac{1}{k^*}} P_{n-3}}{p_{n-2}} \bar{y}_{n-2} \\ &= \sum_{r=n-2}^n c_{nr} \bar{y}_r \end{aligned}$$

where

$$c_{nr} = \begin{cases} (n+1)\varepsilon_n \frac{\theta_n^{-1/k^*} P_n}{p_n}, & r = n \\ - \left[ \frac{(n+1)\varepsilon_n \theta_{n-1}^{-\frac{1}{k^*}} P_{n-2}}{p_{n-1}} + \frac{(n-1)\varepsilon_{n-1} \theta_{n-1}^{-\frac{1}{k^*}} P_{n-1}}{p_{n-1}} \right], & r = n-1 \\ (n-1)\varepsilon_{n-1} \frac{\theta_{n-2}^{-1/k^*} P_{n-3}}{p_{n-2}}, & r = n-2. \end{cases}$$

Then,  $\sum \varepsilon_n x_n$  is summable  $|C, -1|$  whenever  $\sum x_n$  is summable  $|\bar{N}, p_n, \theta_n|_k$  if and only if  $y = (y_n) \in \ell$ , whenever  $\bar{y} = (\bar{y}_n) \in \ell_k$ , or equivalently, the matrix  $C = (c_{nr})$  maps  $\ell_k$  into  $\ell$ , i.e.,  $C \in (\ell_k, \ell)$ . Thus, it follows from Lemma 1.1 that  $C \in (\ell_k, \ell)$  iff

$$\sum_{r=1}^{\infty} \left( \sum_{n=r}^{r+2} |c_{nr}| \right)^{k^*} = \sum_{r=1}^{\infty} (|c_{rr}| + |c_{r+1,r}| + |c_{r+2,r}|)^{k^*} = \sum_{r=1}^{\infty} \frac{1}{p_r^{k^*} \theta_r} (|(r+1)\varepsilon_r P_r| + |(r+2)\varepsilon_{r+1} P_{r-1} + r\varepsilon_r P_r| + |(r+1)\varepsilon_{r+1} P_{r-1}|)^{k^*} < \infty.$$

which is equivalent to the condition (2.1). This completes the proof of the Theorem.

The following result is immediate from of the Theorem 2.1.

**Corollary 2.2.** Let  $(\theta_n)$  be a sequence of positive real constants and  $1 < k < \infty$ . Then,  $|\bar{N}, p_n, \theta_n|_k \subset |C, -1|$  if and only if

$$\sum_{r=1}^{\infty} \frac{1}{\theta_r} \left( \frac{r(P_r + P_{r-1})}{p_r} \right)^{k^*} < \infty.$$

Now, we prove the following.

**Theorem 2.3.** Let  $(\theta_n)$  be a sequence of positive real constants and  $1 \leq k < \infty$ . Then the necessary and sufficient condition that  $\sum \varepsilon_n x_n$  is summable  $|\bar{N}, p_n, \theta_n|_k$  whenever  $\sum x_n$  is summable  $|C, -1|$ , is

$$\sup_r \sum_{n=r}^{\infty} \left| \frac{r\theta_n^{1/k^*} p_n}{P_n P_{n-1}} \sum_{v=r}^n \frac{P_{v-1} \varepsilon_v}{v(v+1)} \right|^k < \infty.$$

**Proof.** Let  $(t_n)$  and  $(T_n)$  denote the  $n$ th weighted mean of the series  $\sum \varepsilon_n x_n$  and the  $n$ th Cesàro  $(C, -1)$  mean of the series  $\sum x_n$ , respectively. As in proof of Theorem 2.1, we define the sequences  $\bar{y} = (\bar{y}_n)$  and  $y = (y_n)$  as

$$\begin{aligned} \bar{y}_n &= \theta_n^{1/k^*} (t_n - t_{n-1}) = \frac{\theta_n^{1/k^*} p_n}{P_n P_{n-1}} \sum_{v=1}^n P_{v-1} \varepsilon_v x_v, \bar{y}_0 \\ &= x_0 \varepsilon_0 \end{aligned}$$

and

$$y_n = T_n - T_{n-1} = (n+1)x_n - (n-1)x_{n-1}, \quad (2.4)$$

respectively.

It is clear that  $\varepsilon x = (\varepsilon_n x_n) \in |\bar{N}, p_n, \theta_n|_k$  iff  $\bar{y} = (\bar{y}_n) \in \ell_k$  and  $x = (x_n) \in |C, -1|$  iff  $y = (y_n) \in \ell$ . By virtue of (2.4), we write inverse of  $y_n$  as

$$x_n = \frac{1}{n(n+1)} \sum_{v=1}^n v y_v, \quad x_0 = y_0. \quad (2.5)$$

Then, using (2.5), we get for  $n \geq 1$

$$\begin{aligned} \bar{y}_n &= \frac{\theta_n^{1/k^*} p_n}{P_n P_{n-1}} \sum_{v=1}^n P_{v-1} \varepsilon_v x_v \\ &= \frac{\theta_n^{1/k^*} p_n}{P_n P_{n-1}} \sum_{v=1}^n P_{v-1} \varepsilon_v \frac{1}{v(v+1)} \sum_{r=1}^v r y_r \\ &= \frac{\theta_n^{1/k^*} p_n}{P_n P_{n-1}} \sum_{r=1}^n r \left( \sum_{v=r}^n \frac{P_{v-1} \varepsilon_v}{v(v+1)} \right) y_r = \sum_{r=1}^n c_{nr} y_r \end{aligned}$$

where

$$c_{nr} = \begin{cases} \frac{r\theta_n^{1/k^*} p_n}{P_n P_{n-1}} \sum_{v=r}^n \frac{P_{v-1} \varepsilon_v}{v(v+1)}, & 1 \leq r \leq n, \\ 0, & r > n. \end{cases}$$

Then,  $\sum \varepsilon_n x_n$  is summable  $|\bar{N}, p_n, \theta_n|_k$  whenever  $\sum x_n$  is summable  $|C, -1|$  if and only if  $\bar{y} = (\bar{y}_n) \in \ell_k$  whenever  $y = (y_n) \in \ell$ , or equivalently, the matrix  $C = (c_{nr})$  maps  $\ell$  into  $\ell_k$ , i.e.,  $C \in (\ell, \ell_k)$ . Thus, it follows from Lemma 1.2 that

$$\sup_r \sum_{n=1}^{\infty} |c_{nr}|^k = \sup_r \sum_{n=r}^{\infty} \left| \frac{r\theta_n^{1/k^*} p_n}{P_n P_{n-1}} \sum_{v=r}^n \frac{P_{v-1} \varepsilon_v}{v(v+1)} \right|^k < \infty.$$

This completes the proof of the Theorem.

In the special case  $\varepsilon_v = 1$  for all  $v$ , Theorem 2.3 is reduced to the following result.

**Corollary 2.4.** Let  $(\theta_n)$  be a sequence of positive real constants and  $1 \leq k < \infty$ . Then,  $|C, -1| \in |\bar{N}, p_n, \theta_n|_k$  if and only if

$$\sup_r \sum_{n=r}^{\infty} \left( \frac{r\theta_n^{1/k^*} p_n}{P_n P_{n-1}} \sum_{v=r}^n \frac{P_{v-1}}{v(v+1)} \right)^k < \infty.$$

## REFERENCES

- [1] H. Bor, "Some equivalence theorems on absolute summability methods," *Acta Math. Hung.*, vol. 149, pp.208-214, 2016.
- [2] H. Bor, "On two summability methods," *Math. Proc. Cambridge Philos. Soc.*, vol. 98, 147-149, 1985.
- [3] T.M. Flett, "On an extension of absolute summability and some theorems of Littlewood and Paley," *Proc. London Math. Soc.*, vol. 7, pp. 113-141, 1957.
- [4] G.C. Hazar Güleç, "Summability factor relations between absolute weighted and Cesàro means," *Math. Meth. Appl. Sci.* vol.42, no.16, pp.5398-5402, 2019.
- [5] G.C. Hazar Güleç and M.A. Sarıgöl, "Compact and Matrix Operators on the Space  $|C, -1|_k$ ," *J. Comput. Anal. Appl.*, vol.25, no.6, pp.1014-1024, 2018.
- [6] G.C. Hazar Güleç, and M.A. Sarıgöl, "On factor relations between weighted and Nörlund means," *Tamkang J. Math.*, vol.50, no.1, pp.61-69, 2019.
- [7] I.J. Maddox, "Elements of functional analysis, Cambridge University Press," London, New York, 1970.
- [8] S.M. Mazhar, "On the absolute summability factors of infinite series," *Tohoku Math. J.*, vol.23, pp.433-451, 1971.
- [9] M.R. Mehdi, "Summability factors for generalized absolute summability I," *Proc. London Math. Soc.*, vol.3., no.10, pp.180-199, 1960.
- [10] R.N. Mohapatra, "On absolute Riesz summability factors," *J. Indian Math. Soc.*, vol.32, pp.113-129, 1968.
- [11] M. A. Sarıgöl, "Spaces of series Summable by absolute Cesàro and Matrix Operators ," *Comm. Math. Appl.* , vol.7, no.1, pp.11-22, 2016.
- [12] M.A. Sarıgöl, "Extension of Mazhar's theorem on summability factors," *Kuwait J. Sci.*, vol.42, no.3, pp.28-35, 2015.
- [13] M.A. Sarıgöl, "On the local properties of factored Fourier series," *Appl. Math. Comp.*, vol.216, pp.3386-3390, 2010.
- [14] W.T. Sulaiman, "On summability factors of infinite series," *Proc. Amer. Math. Soc.*, vol.115, pp.313-317, 1992.
- [15] W.T. Sulaiman, "On some absolute summability factors of Infinite Series," *Gen. Math. Notes*, vol.2, no.2, pp.7-13, 2011.
- [16] B. Thorpe, "Matrix transformations of Cesàro summable Series," *Acta Math. Hung.*, vol. 48(3-4), pp.255-265, 1986.